Operations Extension Booklet

	Instructions:
· Answer the questions and solve the problems in your exercise book.
· Please do not write in this booklet.
· You will have to think hard for most of these.



This booklet includes questions on:
· Column addition and subtraction
· Short multiplication and division
· Powers and roots
· Order of operations

Question 1
Find the missing digits for these addition and subtraction questions.
[image: ]
Source: Don Steward’s Median



Question 2
Think of a 2-number addition that could belong in each of the regions.
[image: ]
Source: MathsVenns.com

Question 3
Can you provide some examples to back up your argument?
[image: ]
Source: NCETM assessment materials



Question 4
Can you spot what these times tables have in common?
[image: A white text with black text

Description automatically generated]
Source: BossMaths.com

Question 5
Use the original calculation to work out these others that have been multiplied or divided by powers of 10.
[image: A white paper with black text

Description automatically generated]
Source: BossMaths.com



Question 6
Use the given digits to make the multiplication correct.
[image: A collage of black squares

Description automatically generated]
Source: Don Steward’s Median

Question 7
There is lots of information here for you work with. What can you find out? Can you write an exam question using this information?
[image: ]
Source: Goal-Free Problems



Question 8
Can you add brackets to make the calculations work?
[image: A math problem with numbers and a few words

Description automatically generated with medium confidence]
Source: Don Steward’s Median


Question 9
Using the digits 0 to 9 at most one time each, place a digit in each box so that each expression is simplified to a different odd number.
[image: A math symbols on a white background

Description automatically generated]
Source: Open Middle



Question 10
Using the digits 1 to 5, at most one time each, place a digit in each box to create an expression with the largest possible value.
[image: A black lines with a white background

Description automatically generated with medium confidence]
Source: Open Middle

 
Question 11
Can you use the information you have to work out the answers?
[image: A group of math equations

Description automatically generated]
Source: Don Steward’s Median
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Is the following statement always, sometimes or never
true? Explain your reasoning.

‘Addition and multiplication make numbers bigger,
subtraction and division make numbers smaller.’
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Have a look at a times table grid.

a) What do all the numbers in the 10 times table have in common?
b) What do all the numbers in the 5 times table have in common?
¢) What do all the numbers in the 2 times table have in common?

d) What do all the numbers in the 9 times table have in common?
(Hint: try adding the digits of each number together.)

e) What do all the numbers in the 3 times table have in common?
(Hint: try adding the digits of each number together.)
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You are given that 428 X 395 = 169,060.
Fill in the following blanks:

a) 428X395=__

b) 42.8X0.395=_

c) 0.0428 X3950=__

d) 42,800 X395=_

€) X 3.95=1.6906
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image7.emf
Jamie and Lily are at college.   They want to buy some lockers for their common room.   They decide to do a sponsored walk to rai se the money to buy the lockers.   Some people will give them money for each mile they walk.   Some people will give them a fixed amount of money.   Here are Jamie's and Lily's sponsor forms.       Jamie and Lily each walk 18 miles.   The lockers cost £108   Work out what you can from this information.  
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show where you put brackets in
1+3x8+4 -2

to get answers:

(a) 6

(b) 5

(c) 1

(d) 0

(e) 13

(fy 16

(g) 12% some have more
(h) 4% than one solution
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practice makes perfect: find the missing digits for addition and subtraction
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